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புத்திக்க ம்ை

 

1. (x + y)2 + 9(x + y) + 8 d; fhuzpfs; 

(A) (x+y + l)(x + y)    (B) (x + y+l)(x + y + 8)  

(C) (x + y + l)(x + y + 6)   (D) (x + y + 8)(x + y + 2) 

   
 

2. Kjy; ‘n’ xw;iw ,ay; vz;fspd; $LjYf;Fk; Ky; ‘n’ ,ay; vz;fspd; $LjYf;Fk; cs;s 

tpj;jpahrk; vd;d? 

(A) 
𝑛

2
+ 1    (B)  

𝑛(𝑛−1)

2
  

(C) 
𝑛(𝑛+1)

2
    (D)  

𝑛(𝑛+1)(2𝑛+1)

6
 

 

3. 36 tpdhb vd;gJ xU kzpapy; vj;jid rjtPjk; MFk;? 

(A) 6%    (B) 1%   (C) 10%   (D) 36% 

 

4. (
𝑥𝑚

𝑥𝑛 )  𝑚 + 𝑛 (
𝑥𝑛

𝑥𝑙 ) 𝑛+𝑙  (
𝑥𝑙

𝑥𝑚) 𝑙+𝑚 = ⋯ 

 (A) 1    (B) – 1   (C) xm+n+l  (D) 
1

𝑥𝑚+𝑛+𝑙 

5. x, y ,tw;wpd; kP.ngh.k z vdpy; x> y d; kP.ngh.t. vd;d? 

(A) 
𝑥𝑦

𝑧
   (B) 

𝑥𝑧

𝑥𝑦
    (C) 

𝑦𝑧

𝑥
   (D) xy 

 

6. 
𝑥2−2𝑥

𝑥2+2𝑥
 x 

3𝑥+6

𝑥−2
-d; kjpg;G 

(A) 3x    (B) 3    (C) 3x + 2   (D) x – 2 
 

7. gpd;tUtdtw;Ws; vJ rhpahd VWthpirapy; mike;Js;sJ? 

(A) 25% of 8, 40% of 6, 30% of 9, 20% of 15  

(B) 20% of 15, 25% of 8, 30% of 9, 40% of 6  

(C) 30% of 9, 40% of 6, 25% of 8, 20% of 15  

(D) 20% of 15, 30% of 9, 40% of 6, 25% of 8  
 

 

8. gpd;tUtdtw;Ws; gug;gstpy; nghpaJ vJ?  

(A) mbg;gf;fk; 10 nr.kP. cauk; 8 nr.kP. nfhz;l Kf;Nfhzk; 

(B) 12 nr.kP.> 5 nr.kP kw;Wk; 13 nr.kP. gf;fq;fs; cs;s Kf;Nfhzk;  

(C) 10 nr.kP. gf;fk; cs;s rkgf;f Kf;Nfhzk;  

(D)  nrq;Nfhzj;ij cs;slf;fpa gf;fq;fs; 3 nr.kP. kw;Wk; 4 nr.kP. cs;s Kf;Nfhzk; 
 

 

9. A vd;gjid + vdTk;> B vd;gjid + vdTk;> C vd;gjid × vdTk; > D vd;gjid - vdTk; 

nfhz;lhy; of  
1

5
𝐶2𝐵

1

5
𝐷

1

10
=? 

(A) 2.1    (B) 1.2   (C) 2.5    (D) 1.6 
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10. 
𝑥3−1

𝑥+3
  ÷

𝑥2+𝑥+1

3𝑥+9
-d; kjpg;G? 

(A) 3x – l    (B) 3(x + l)   (C) 3(x – l)    (D) 3x + 2 

 

11. 7 nr.kP. Muk; cs;s miu tl;lj;jpd; gug;G  

 (A) 7 nr.kP.
2
      (B) 777 nr.kP.

2
   

 (C) 77 nr.kP.
2
      (D)  7777 nr.kP.

2 

  

12. xU igadpd; jw;Nghija taJ mtdJ jq;ifapd; taijg; Nghy ,U klq;F. 4 Mz;LfSf;F 

Kd;G mtdJ taJ mtd; jq;ifapd; taijg; Nghy %d;W klq;F vdpy;> mth;fsJ jw;Nghija 

taJ vd;d? 

(A) 18, 9   (B) 14, 7   (C) 16, 8   (D) 12, 6 

  

13. 𝑥
3

2⁄ : 9 = 16: √𝑥. vdpy; x ,d; kjpg;G vd;d? 

 (A) ±16   (B) ±3    (C) ±4    (D) ±12 

 

14. 75 vz;fisf; nfhz;l xU njhFjpapd; ruhrhp 27 vdf; fzf;fplg;gl;lJ. gpd;G> 53 vd;w vz; 

jtWjyhf 43 vd;W gbf;fg;gl;lJ gpd;dh; fz;Lgpbf;fg;gl;lJ. vdNt> mj;njhFjpapd; rhpahd 

ruhrhpiaf; fhzTk;. 

 (A) 26.13  (B) 27.13   (C) 28.13   (D) 25.13 

 

15. vj;jid Mz;Lfs; Kbtpy; xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; %d;W klq;fhFk;? 

 (A) 24   (B) 25   (C) 20    (D) 12 

 

16. Xh; cUisapd; mbg;ghfk; tl;l tbtpy; ,y;iy vdpy; mJ vt;thW miof;fg;gLk;?  

 (A) tl;l cUis    (B) Neh; tl;l cUis  

 (C) rha;T cUis    (D) xOq;fw;w cUis 

 

17. 10 kP vd;gJ vjw;F rkk;? 

(A) 100 sq. cm.     (B) 1000 sq. cm.  

(C) 10000 sq. cm.    (D) 100000 sq. cm.  

 

18. 𝑥, 𝑥
3

2⁄ , 𝑥2, 𝑥
5

2⁄ , … ? vd;w njhlh; thpirapd; cWg;G vd;d? 

    (A) 𝑥
85

2    (B) 𝑥
45

2   (C)  𝑥43  (D)  𝑥44 

19. The xU $k;gpd; Muk; kw;Wk; rhAauk; KiwNa ‘r’’ kw;Wk; ‘l’’ vdpy; $k;gpd; fdmsT vd;d? 

       (A) 
1

3
𝜋𝑟2√𝑙2 − 𝑟2   (B) 

1

3
𝜋𝑟2√𝑙2 + 𝑟2 

(C)  𝜋𝑟𝑙     (D)  𝜋𝑟(𝑙 + 𝑟) 

20. cs;sPlw;w miuf; Nfhsj;jpd; nkhj;jg; Gwg;gug;G = 

 (A) 2𝜋(𝑅2 + 𝑟2) r. myFfs;   (B) 2𝜋(𝑅2 −  𝑟2) r. myFfs; 

(C) 𝜋(3𝑅2 +  𝑟2)r. myFfs;   (D) 𝜋(3𝑅2 −  𝑟2)r. myFfs 
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21. xU yPg; tUlj;jpy; 53 nts;spf;fpoik my;yJ 53 rdpf;fpoikfs; tUtjw;fhd epfo;jfT fhz;f 

 (A) 1/7   (B) 2/7    (C) 3/7   (D) 4/7 

 

22. 100 Ml;fs; xU Ntiyia 7 ehl;fspy; Kbf;ff; $Lk; vdpy; mNj Ntiyia 35 ehl;fspy; Kbf;f 

vj;jidg; Ngh; Njitg;gLth;?  

(A) 20 Ml;fs;    (A) 50 Ml;fs;  

(C) 30 Ml;fs;     (D) 25 Ml;fs 

 

23. 100> 95> 90> 85 vd;w njhlh;thpirapd; 21tJ cWg;G vd;d?  

(A) 10    (B) 20    (C) 0    (D) 5 

 

24. RUf;Ff: 
2𝑥4−162

(𝑥2+9)(2𝑥−6)
  

(A) x2 +9  (B) x +3   (C) x + 6   (D) x – 6 
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